mathrm a'N

13000 GeV pp

H000 1 —— | e,
c
QO — 1o
% - Thrust )\_21(charged only) (CMS jet substructure) 4
© B =
T |  m CMS e
45000 |— = Pythia 6.428 359 I
£ | —A— Pythia 6.428 370 =
S L Pythia 6.428 a Sis
o — ---¥-- Pythia 6.428 dw -1
= [ —o— Pythia6.428 p0 +z
38000 — - Pythia 6.428 pro-q20 ]
-lct - —
g - |
o- | : §
000 —s
o
— 1M
c <
= o=
X
E e
e
K000 — 2
S
£ 12
< 15
o )
SN —— | | | | =
2 =2
n _|
= _
@) _
e 1 1
8 —
7 B i
x
05 —0.5
| : | : |
0 0.5 1

thrust (charged-only)



	Contents
	Page 1


